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400 55 53 284 1 . . . . . . 4 . . . . 3
i 1000  13.8 133 710 03 - - - - - 1 10 - - - 1 o8
. 400 61 23 31 . i i i i = = - . . = = i
SE
R 100.0 15.3| 58 77.8 1 03 3l 03 03 - - - - - - 1 03
= 200 35 T2 148 2 - - 1 1 . . i . . . . -
#A®. @FH 1000 175 6.0/ 740 _ 1.0 - 1 o5 o5 - 1 o5 - - - - -
= 200 25 8 163 = = i . . . . . . . . . 3
WARD 1000 12.5| 40| 8i5 - - 5 - - - - - - - - 1 s
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: 4900 875|  2278|  903|  406] 303 14 8 15 1 9 %6 2 i 3 16
1000 179 465 184 83 62 03 02 03 02 2l os 0 0 0. 1 0.9
— 400 69 319 - 2 . . i 3 . i 5 - - . -
IFNE 100.0,  17.3] 79.8 1 o5 - | 03 os - 3l 13 - - - -
" 400 73 314 i 5 . . . . . 1 2 . . . 2
IR 1000 18.3 785 03 13 - - - : - 3 o5 - - 1 10
400 63 320 14 1 . . . . . - 2 . . . -
AER 100.0  15.8 800 35 03 - - - - - | o5 - - - -
n 300 50 244 i 1 . 2 . . . . . . . . 2
ARE 1000 16.7, 8.3 03 03 1 07 - - - - - - - 1 07
- 400 73 312 3 1 2 1 . i . 2 3 . 7
= 1000 18.3 780 08 03 05 03 | 03 - 5| o8 - - 1 o5
400 70 313 2 4 - 1 . 1 2 - 4 . . . 3
B 1000 175 783 05 1.0 1 o3 1 03 o5 1 10 - - 1 o8
- 400 54 333 i . . 2 . 1 1 2 2 . i i 2
THRE 1000 13.5 833 0.3 - 1 o5 1 03 o3 5| o5 - 3 0.3 05
- ~ 150 25 4 - i 109 i i 2 . i i . - . 5
BIBT. BXTD. MED. 755 1000, 16.7] 2.7 4 07l 729 01l 01 13 - gl 07 - - 1 a3
. . 100 25 3 . . 63 . 3 . 3 1 . . . . 2
RE WG, FRET. SATQET. FIARET 100.0 950 3.0 B B 63.0 B 3.0 B 30 0 _ _ _ B 90
N 200 45 8 i 2 124 i 2 2 5 . . 2 . . 8
BED. FRM. RRB 1000 225 40 05 10 620 05 10 10 25 - - 0 - 1 40
. . 350 76 11 5| 246 1 2 . 1 . . 2 . . . 6
FRE®. FFH. LFELRKET) 000 217 s 1.4 703 03] o6 1 03 - 1 o - - 1 17
_ - 200 32 14 i 142 3 1 i i . - . . i 4
=#m. Fm 1000 160, 7.0 05 7100 15 05 05 0.5 - - - - 0.5] 2.0
400 67 50 277 . . . . . . . 4 . . . 2
i 1000,  16.8| 12.5|  69.3 - - - - - - 1 10 - - 1 o5
- 400 75 21 205 . i 2 . 2 . i . . . . 3
100.0 18.8) 53 73.8 1 03 o5 | o5 - 3 - - - 1 o8
= 200 39 8 149 i - - . 1 . - i . . i -
#A®. @FH 100.0  19.5| 40 745 05 - - 1 os - 1 o5 - - 0.5 -
= 200 39 A 153 . . i . . . . . . . . 3
WARD 1000  19.5| 20/ 765 - 1 o5 - - - - - - - 1 s
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1000 259 453 149 62 46 2l 02 o4 02 4 04 0 0. 1 2
— 400 107|279 - i - . . 9 . i 2 - . i
IFNE 1000, 26.8|  69.8 1 03 - - | 23 - 3 os - - 3
" 400 107 280 i 4 . . . 1 . 1 . . . 6
IR 1000 268 700 03 10 - - 1 03 - 3 - - - 5
400 96| 266 31 - . i . - . 3 2 . . i
AER 100.0, 24.0 665 7.8 - - 3 - - - 8l o5 - - 3
n 300 65 227 2 i . i . 2 i . . i
ARE 1000 217 75.7] 0.7 1 o3 1 o3 - - 7l o3 - - 3
- 400 89 295 3 i 2 . . . . 4 2 i 3
= 1000 2.3 738 08 03 o5 - - - - o o5 - 0.3 8
400 118|274 - 2 - . . . i - 3 . . 2
B 1000, 29.5/ 685 1 os - - - 1 o3 1 o8 - - 5
—— 400 82 306 i 1 . i i i 1 2 2 i . i
1000 205 765 0.3 03 - 3l 03 03 03 5| o5 3 - 3
- ~ 150 24 13 - 2 78 - 3 . . - 3 - . 7
BIBT. BXTD. MED. 755 1000, 29.3 8.7 4 13 s20 1 20 - - 1 20 - - 7
. . 100 34 15 . = 43 = 3 . i i . . . 3
RE WG, FRET. SATQET. FIARET 100.0 340 15.0 B B 43.0 B 3.0 B 10 0 _ B B 0
N 200 57 25 i 3 95 i - 2 8 . . . . 8
BED. FRM. RRB 100.0  28.5/ 12.5 0.5 15| 415 5 - 1.0 40 - - - - 0
. . 350 109 45 3 18l 1 1 . 1 = i . = 8
FRE®. FFH. LFELRKRET) 00 a1l 1200 o9l 517 03 3 1 03 1 o3 - - 3
_ - 200 52 28 i 104 3 2 i i . i - . i 6
=#m. Fm 100.0, 26,0, 140 05 520 15 o o5 05 - 5 - - 0.5 0
400 103 103|183 1 . . . . . . 4 . . 6
i 1000, 25.8| 258 458 03 - - - - - 1 10 - - 5
. 400 104 34 256 . . 2 . i i = - . = 2
SE
R 100.0,  26.0| 8.5  64.0 - - 5 4 03 o3 - - - - 5
= 200 57 7 116 2 = - i 3 . . i . i 2
#A®. @FH 100.0  28.5| 85 580 _ 1.0 - 1 o5 15 - 1 o5 - 0.5 0
= 200 45 T4 133 = = i . . . 3 . . . 4
WARD 1000 225 7.0 665 - - 5 - - - 5 - - - 0
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1000 384 338 1.4 43 34 4l o 3.5 03 4 03 0 0 o ol 0.0l 34
— 400 153 199 2 3 - 2 - 29 i i 2 - - - . . 8
IFNE 100.0 383 498 05 08 - 5 4 73 o3 3 os - - - - 1 20
- 400 184 186 4 2 2 . . 8 . 2 . . . . . . 12
1000 460 465 10 05 05 - 1 20 - 5 - - - - - 1 30
400 144 201 23 1 - 2 . 12 . 3 2 . i . . . 1
AER 100.0 360 503 58 03 - 5 | 30 - 8l o5 - 3 - - 1 28
P 300 107|167 4 2 i . i 6 . 2 i . i i . . 7
= 1000 357 557 13 07 03 4 03l 20 - 7l o3 - 3 3 - 1 23
- 400 131 227 3 1 1 2 . 5 . 3 2 . . . i i 13
= 1000 32.8] 568 08 03 03 5 | 38 - 8| o5 - - - 03 03 33
400|163 199 3 4 2 - . 13 . - 3 . i . 12
B 1000  40.8] 498 08 10 o5 - | 33 - 1 o3 - - 03 1 30
—— 400 129 222 5 2 1 i . 20 . 1 3 . . . . i 12
1000 323 555 1.3 05 03 3 1 50 - o  os - - - - 03l 30
- ~ 150 52 1 i 2 60 1 i 1 - - . . . . . 1
BIBT. BXTD. MED. 755 1000 347 73 01 13 400 gl 07l 13 - - - - - - - 1 13
. . 100 16 7 . = 30 . 3 4 i 2 . . . . . . 7
AR FRM. WA, RIRET 0% 460 7.0 - | 300 30 a0 10 0 - - - - - 1 70
N 200 89 20 i 3 61 3 - 8 8 . . i . . . . 6
BED. FRM. RRB 100.0, 445 10.0, 0.5 1.5/ 305 5 - a0 a0 - - 5 - - - 41 30
. . 350 150 3 A 12 3 . . 11 1 i i . . . . . 15
FRE®. FFH. LFELRKRET) 070 a9 123 11| 346l 00 - 1 3 0.3 3 03 - - - - 1 a3
_ - 200 71 36 i 65 3 2 i 5 4 - - . . . 12
=#m. Fm 100.0,  35.5 180 0.5 325 15 o o5 25 20 - - - - - 1 60
. 400 159 770 135 1 . 2 . 7 . i 2 . . . . . 16
1000  39.8 193 338 03 - 5 1 s - 3 os - - - - 1 40
. 400 156 26 190 1 i 2 . 10 i . . . . . i . 12
f#EE™
100.0  39.0, 65 475 03] 03 5 | 25 03 - - - - 03 1 30
= 200 72 21 88 2 - 1 . 9 . . . . . i - . 6
#A®. @FH 100.0, 36,0 105 440 1.0 - 5 | a5 - - - - - 5 - 1 30
= 200 76 16 93 . i 1 . 3 . 3 . . . . . . 7
WARD 1000 380 8ol 465 1 o5 5 1 s - 5 - - - - - 1 35
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100.0 592 220 90 4 3.3 1 0.1 0.0l 0.3 6 0.3 0 0 0 0 0
— 400) 245 148 - - - - - 1 - 3 2 - - - - i
IFNE 100.0, _ 61.3]  37.0 - - - - | 03 - 8| o5 - - - - 3
= 400 266] 128 . i = = = = = 2 . . . = = 3
IR 100.0/  66.5/  32.0 4 o3 - - - - - 5 - - - - - 8
400] 244|149 i 1 = = = = = 3 2 . . = = -
AER 100.0 6.0 373 03 03 - - - - - 8| 05 - - - - -
» 300 173 119 i = = = i = = 3 . . . = i 2
ARE 100.0 577 397 03 - - 4 o3 - - 0 - - - - 3 7
400 217 172 2 = i = = = 3 . . i 4
=
BHEX 100.0, 54.3 430 0.5 - - 3 - - - 8 - - - - 3 0
400 249] 144 - = i - = = = 1 2 . . = - 3
B 100.0/  62.3]  36.0 - 4 03 - - - - 3 o5 - - - - 8
. 400 227|159 i = 1 = = = = 5 i i . i = 4
THRE 100.0 568 398 03 1 03 - - - - 3l 03 3 - 3 - 0
. ~ 150 80 4 - i 6 = i i = - 2 - . - = 5
BIBT. BXTD. MED. 755 100.0 533 2.7 4 0l 313 4 01l o7 - 4 s - - - - 3
N . 100 59 i . = 34 = ) = 3 . . . . . . i
RE WG, FRET. SATQET. FIARET 100.0 59. 0 10 B B 340 B 90 B 30 B _ _ _ B B 0
N 200 117 i i i 69 i - = 4 i . i . . . 4
BED. FRM. RRB 100.0, 585 05 05 05 345 5 - - 20 5 - 5 - - - 0
. . 350 217 5 o 115 . - i = i = i . . = = 8
FREW. FFH. LFELRKET) 000 620 1.4 0.6 32.9 - | o3 1 o3 1 o3 - - - - 3
_ L 200 109 5 - 4 i i i = 2 2 - . = = 5
=#m. Fm 100.0 545 2.5 | 370 05 5| 0.5 1o 0 - - - - 5
400 237 26 129 - - - - = - 3 3 . . = = 2
i 100.0, 593 6.5 323 - - - - - - 8l 08 - - - - 5
. 400 235 o 146 = 2 = = 2 i - . . = = 5
SE
R 100.0,  58.8 2.3 365 - - 5 - - o5 3 - - - - - 3
= 200 112 7 78 i = - . . 1 - . . i . . -
#A®. @FH 100.0, 560, 35 390 _ 05 - - - AN - - - 5 - - -
= 200 113 i 79 = = i = = . 3 . . . . . 3
WARD 100.0, 565 05 395 - - 5 - - - 5 - - - - - 5
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A
& 1k 102900 30982 40042 16337 7245 5393 237 212 300 275 274 341 18 13 11 13 30 1177
100.0 30. 1 38.9 15.9 7.0 5.2 0.2 0.2 0.3 0.3 0.3 0.3 .0 0.0 0.0 0.0 1.1
IRNIR 8400 2657 5467 7 19 - 26 2 100 3 15 52 - - - - - 52
100.0 31.6 65. 1 0.1 0.2 - 0.3 0.0 1.2 0.0 0.2 0.6 - - - - - 0.6
RHR 8400 2627 5464 6 146 4 - - 9 2 27 18 - 1 - - - 96
100.0 31.3 65.0 0.1 1.7 0.0 - - 0.1 0.0 0.3 0.2 - 0.0 - - - 1.1
*EX 8400 2450 5526 305 13 2 9 12 1 15 34 - 1 1 1 7 22
100.0 29.2 65.8 3.6 0.2 0.0 0.1 0.0 0.1 0.0 0.2 0.4 - 0.0 .0 0.0 0.1 0.3
LEE 6300 1946 4183 13 16 5 21 12 9 2 43 12 - 1 1 - 2 34
100.0 30.9 66. 4 0.2 0.3 0.1 0.3 0.2 0.1 0.0 0.7 0.2 - 0.0 .0 - 0.0 0.5
EER 8400 2388 5782 19 24 16 4 - 18 1 46 317 1 - 1 4 59
100.0 28.4 68.8 0.2 0.3 0.2 0.0 - 0.2 0.0 0.5 0.4 - 0.0 - 0.0 0.0 0.7
B 8400 2699 5446 12 63 4 2 1 22 20 4 48 - - - 1 2 76
100.0 32.1 64.8 0.1 0.8 0.0 0.0 0.0 0.3 0.2 0.0 0.6 - - - 0.0 0.0 0.9
TEE 8400 2246 5914 11 12 11 32 10 24 2 50 33 2 2 5 3 3 40
100.0 26.7 70.4 0.1 0.1 0.1 0.4 0.1 0.3 0.0 0.6 0.4 .0 0.0 1 0.0 0.0 0.5
. 4= 3150 879 90 3 23 1952 6 30 20 5 2 35 - - - - - 105
BIRT . WX, #EH, 775 100.0 27.9 2.9 0.1 0.7 62.0 0.2 1.0 0.6 0.2 0.1 1.1 - - - - - 3.3
t . 2100 650 82 - 7 1156 - 62 4 42 22 - - - 1 - - 14
AR MR REET . ATET. RIARED 100.0 31.0 3.9 - 0.3 55.0 - 3.0 0.2 2.0 1.0 - - - .0 - - 3.5
DN 4200 1432 139 13 43 2153 29 24 19 155 2 3 10 - - - 1 171
MFD. FEB. RRB 100.0 34.1 3.3 0.3 1.0 51.3 0.7 0.6 0.5 3.7 0.0 0.1 .2 - - - 0.0 4.2
" — \ 7350 2471 267 52 4328 22 17 9 14 12 1 12 - - - - - 145
BREH, #Fh, LA, RRET 100.0 33.6 3.6 0.7 58.9 0.3 0.2 0.1 0.2 0.2 0.0 0.2 - - - - 2.0
=, =)H 4200 1143 283 17 2516 45 18 23 9 25 9 5 4 2 - 4 4 93
100.0 27.2 6.7 0.4 59.9 1.1 0.4 0.5 0.2 0.6 0.2 0.1 1 0.0 - 0.1 0.1 2.2
1115 7 8400 2537 868 4865 7 1 4 - 9 - 7 44 - - - - - 58
100.0 30.2 10.3 57.9 0.1 0.0 0.0 - 0.1 - 0.1 0.5 - - - - - 0.7
R 8400 2447 288 5479 7 15 44 19 14 4 4 - - - - 1 1 11
- 100.0 29.1 3.4 65.2 0.1 0.2 0.5 0.2 0.2 0.0 0.0 - - - - 0.0 0.0 0.9
= 4200 1259 164 2682 17 1 6 10 14 1 8 8 2 5 3 2 6 12
WAH. ZFH 100.0 30.0 3.9 63.9 0.4 0.0 0.1 0.2 0.3 0.0 0.2 0.2 .0 0.1 1 0.0 0.1 0.3
HAET 4200 1151 79 2853 4 6 19 9 3 - 19 - - - - - - 57
100.0 27.4 1.9 67.9 0.1 0.1 0.5 0.2 0.1 - 0.5 - - - - - - 1.4
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: 19600 7876]  6383| 2768  1266] 889 39 29 28 60 5 9 2 2 i o 177
1000, 40.2| 32.6]  14.1 6.5 4.5 2l o 0. 1 0.3 2 2 0 0 0 0.0 09
— 1600 650 900 - 7 - 7 - 17 4 i - - - . 14
IFNE 100.0,  40.6|  56.3 1 o4 - 4 41 - 3 N - - - 1 09
" 1600 661 884 . 5 i . . . 2 1 i . i . . 14
IR 1000,  41.3| 553 4 29 o - - 4 0 B g - g - 1 09
1600 643 883 65 i 1 i . . - 2 i . - . 3 .
AER 1000,  40.2| 55.2] 4.1 0.1 0.1 gy - - - K N - - - 0.2 -
P 1200 534 637 4 8 1 . . 2 2 8 i . . . . 3
= 1000, 44.5| 531 0.3l 07 o1 - 4 02 o2 7 E - - 1 03
- 1600 647 923 2 6 7 . . 1 . 5 5 . . . . 9
= 1000, 40.4| 57.7 0.1 0.4 0.1 - 4 o1 - 3 3 - - - 1 o6
1600 676 887 4 7 - . . 4 6 . 4 . . . i 1
B 1000 42.3 554 03 04 - - 4 03 o4 - 3 - - - 0.1 0.7
- 1600 599 966 i 3 2 10 i . . 8 2 . . . . 8
THRE 1000, 37.4] 604 0.1 0.2 o1 6 o1 - - 5 N - - - 1 o5
- ~ 600 211 15 2 4 319 1 15 2 i - 5 . . . . 15
BIBT. BXTD. MED. 755 1000 352 25 03 07 532 2l 25| 03l 02 - 5 - - - 1 25
. . 400 150 2 - A 197 - 12 . 8 1 . . . i . 12
AR FRM. WAL, RIRET 0% 378 3.0 4 1o 493 1 30 1 20 0 - - - 3 1 30
N 800] 356 16 2 5 345 8 - . 38 . 2 . . - i 27
BED. FRM. RRB 100.0, 445 20 03 o086 431 0 - | a8 - 3 - - - 0.1 3.4
. . 1400 592 30 I 740 3 2 . . 1 . . . . = 25
FRE®. FFH. LFELBKET) 00 423 2 0.5| 529 02 ¥ - 4 o - - - - 1 48
_ - 800 287 38 5 439 8 i . . 2 i 2 . . . 15
=#m. Fm 1000 359 48 06 549 10 N - | 03 B 5 - - - 1 19
. 1600 647 120 820 2 . 1 . 2 . . 2 . . . . 6
1000, 40.4| 7.5 513 0.1 - N 4 o - - E - - - 1 04
- 1600 594 40 938 7 5 7 . . . . . . . . i 13
1000, 37.1 2.5 58.6| 0.1 0.3 4 - - - - - - - - 0. 1 0.8
= 800 330 25 439 1 1 - . . . . i 2 i . . -
#A®. @FH 1000 413 31| 549 01 0.1 - - - - - g 3 g - - -
= 800] 299 71 479 2 4 i i . . 2 . . . . . 5
WARD 1000 37.4 09 590 03 o5 1 0.1 - - 3 - - - - 1 o6
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1000 335 33 153 70 52 03 o1 01 03 03 03 0 0 0 0.0 11
— 1600 574 979 2 4 . 7 - 14 . 9 - - - . 9
IFNE 1000, 35.9]  61.2 0.1 0.3 1 04 1 o9 4 o 0.6 - - - 1 o6
" 1600 550| 970 . 38 i . . . . 12 2 . . . . 18
IR 1000, 34.9] 606 Y - - : 1 o8 o - - - IR
1600 538 986 56 i 1 2 i . i 7 . . i 2 4
AER 100.0,  33.6| 61.6 35 01 0.1 0.1 0.1 4 o | o4 - - g 0.1 03
P 1200 446 722 i 7 1 5 3 i . 10 . . . . i 8
= 1000 372 602 o1l 02 o1 0.4 03] o1 1 o8 - - - - 0.1l 07
- 1600 518 1043 2 5 7 . . 1 . 12 1 . i . . 12
= 1000  32.4 652 01| 03 o1 - 4 o1 1 o8 o3 - N 1 o8
1600 558 992 - 14 1 . . 3 4 2 1 . - . i 14
B 1000,  34.9]  62.0 4 09 o - 4 02l o3l 01l 07 - - - 0.1l 09
- 1600 510 1061 . 3 2 7 i . . 8 4 . i . . 3
THRE 100.0,  31.9] 663 4 02 o 0.4 0.1 - 1 o5 03 - N - 1 02
- ~ 600 177 13 . 4 369 i 5 . 3 i 8 . - . . 19
BIBT. BXTD. MED. 755 1000, 29.5 2.2 1 07 615l 02 os 4 o8 02 13 - - - Y
. . 400 116 15 . 2 230 . 10 . 8 5 . . . . . 14
AR FRM. WA, RIRET 0% 900 3.8 | o5 515 | 25 4 20 13 - - - - Y
N 800 285 16 2 8| 401 9 4 2 35 - . . . . . 38
BED. FRM. RRB 100.0 356 20 03 10 501 1] o5 03 44 - - - - - a8
. . 1400 499 40 IGE 5 5 . . 2 . . . . . . 27
FRE®. FFH. LFELRKET) 000 356 29 05 582 04 04 - 4 o - - - - - 1 1
_ - 800 233 41 3 475 8 6 2 4 2 i 3 . . . 22
=#m. Fm 1000, 29. 1 5.1 04 504 10 08 03 | o5 03 o1 4 - - 1 28
. 1600 545 150| 888 2 1 1 . . . . 6 - . . . 7
1000, 34.1 9.4 555 01 01 0.1 - - - 1 04 - - - 1 04
- 1600 538 47 979 7 3 12 i . . . . . . . . 18
1000 336 29 6.2 01| o2 o8 o1 - - - - - - - 11
= 800 244 28 517 - - 4 - . . 3 . . 3 i . -
#A®. @FH 1000, 30.5 3.5 646 - 1 o5 - - 1 o4 - - 4 g - -
= 800 231 o 540 . 6 . . 2 . . . . . 10
WARD 1000 289 11 6.5 01 1 o8 o - 1 03 - - - - 113
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1000 242 418 176 7.9 509 2l 03l o 0.2 2l 03 0 0 o 00 11
— 800 215/ 554 2 2 - 4 . 9 . i 6 - - - . 7
IFNE 100.0 269 693 03 03 - 5 IR - B 0.8 - - - - 0.9
" 800 187 576 . 20 . . . . . 3 4 . . . . 0
IR 1000,  23.4]  72.0 1 25 - - - : - 4 o5 - - - - 1.3
800 190| 547 53 2 . i . . . . 4 . . . . 3
AER 100.0 23.8| 684 6.6 03 - N - - - | o5 - - - - 0.4
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